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QUESTION 1

Which statement is true about IP-IP tunnels? 

A. Intermediate devices must have a route to the destination address of the traffic being tunneled. 

B. Intermediate devices must have a route to both the tunnel source address and the tunnel destination address. 

C. Intermediate devices must have a route to the tunnel destination address but do not require a route to the tunnel
source address. 

D. Intermediate devices must have a route to the tunnel source address but do not require a route to the tunnel
destination address. 

Correct Answer: C 

 

QUESTION 2

Which statement is correct about trunk ports? 

A. Trunk ports must have an IRB assigned to accept VLAN tagged traffic. 

B. By default, trunk ports accept only VLAN tagged traffic. 

C. By default, a trunk port can have only a single VLAN assigned. 

D. trunk ports must have an IRB assigned to accept untagged traffic. 

Correct Answer: B 

 

QUESTION 3

Which statement about configuring persistent MAC learning is correct? 

A. Persistent MAC learning requires 802.1X authentication. 

B. Persistent MAC learning can be configured on access mode interfaces. 

C. Persistent MAC learning flushes dynamically learned MAC addresses on reboots. 

D. Persistent MAC learning cannot be configured on redundant trunk groups. 

Correct Answer: B 

 

QUESTION 4

You configured a GRE tunnel that traverses a path using default MTU settings. You want to ensure that packets are not
dropped of fragmented. 
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In this scenario, what is the maximum packet size that would traverse the GRE tunnel? 

A. 1500 

B. 1400 

C. 1524 

D. 1476 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 

Which statement is true about the configuration shown in the exhibit? 

A. The preference for the 172.30.25.1 next hop is 5. 

B. The preferred next hop is 172.30.25.5. 

C. The preference for the 172.30.25.1 next hop is 7. 

D. 172.30.25.1 is the preferred next hop. 

Correct Answer: B 
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QUESTION 6

Which two OSPF header fields must match to form an adjacency over a broadcast connection? (Choose two.) 

A. router priority 

B. options 

C. hello interval 

D. neighbor 

Correct Answer: BC 

 

QUESTION 7

Click the Exhibit button. 

Based on the output shown in the exhibit, which statement is correct? 

A. This switch has been elected as the root bridge 

B. This switch has a bridge priority of 32k 

C. The ge-0/0/15 interface is using the default port cost 

D. The ge-0/0/9 interface is using the default priority value 

Correct Answer: A 

 

QUESTION 8

Which device is used to separate collision domains? 

A. switch 
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B. router 

C. hub 

D. firewall 

Correct Answer: A 

 

QUESTION 9

Click the Exhibit button. 
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You are attempting to set up VRRP with R1 and R2 being participating members. You want R1 to be the master router
and R2 to be the backup router with the virtual router they create being at address 172.25.100.1. The virtual router is not
pinging from either User A or User B. 

Referring to the exhibit, what must be done to correct the problem? 

A. A VRRP policy is needed on R1 and R2. 

B. The VRRP group value on R1 and R2 must match. 
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C. The VRRP priority value on R1 and R2 must match. 

D. A VRRP authentication type value is needed on R1 and R2. 

Correct Answer: B 

 

QUESTION 10

Your network connections to the Internet through two different ISPs using EBGP. You must ensure that ISP1 is the
primary path used for all traffic entering your network while using ISP2 as a backup path. 

In this scenario, which statement is correct? 

A. You should use a lower MED value on routes sent to ISP1. 

B. You should assign a higher local preference on routes that you are sending to ISP1. 

C. You should change the next hop for all routers sent to ISP2. 

D. You should prepend your local AS number three times on routes that you are sending to ISP2. 

Correct Answer: D 

 

QUESTION 11

You must implement filter-based forwarding. You need to direct traffic from the 192.168.1.0/24 through vr1 and traffic
from 10.210.0.128/26 through vr2. 

Which configuration is correct in this scenario? 
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A. B. C. D. 

Correct Answer: D 

 

 

QUESTION 12

Referring to the exhibit, which configuration will force traffic to always use ae0.0 as long as it is active? 
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A. B. C. D. 

Correct Answer: C 
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QUESTION 13

Which two statements about DHCP snooping are correct? (Choose two.) 

A. DHCP snooping inspects all DHCP packets on untrusted ports. 

B. By default, the Junos OS treats access ports as trusted and trunk ports as untrusted. 

C. DHCP snooping uses ARP to add statically defined IP addresses to its database. 

D. The DHCP database maps IP addresses, MAC addresses, and the associated VLAN. 

Correct Answer: AD 
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